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Introduction

 Lumi
Current:85pb-1
Expect:4000pb-

« Signal and background scale

— cross section:Link

— signal scale factor:
* Lumi*Xsec*br/MC _size

— bkg scale factor:
° Sherpa 77:4000/85*0-795*Ndata,Njet>1/NMC,Njet>1
* Revlso&RevID:4000/85"0.205*Nyata njet>1/NNjet>1

« Pdf
signal:CB+GA
bkg:Exponential

* use run1 cut-base to select VBF category




Cross section

ggF 19.27pb 43.92pb 2.28
VBF 1.578pb 3.748pb 2.38
WH 0.7046pb 1.380pb 1.96
ZH 0.4153pb 0.8696pb 2.09
ttH 0.1293pb 0.5085pb 3.93
all 22.10pb 50.43pb 2.28



cut efficiency
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significance ---number counting

* signal region:m,, [121,131]GeV

3990 1.022 10804 2.767 14794 3.789
VBF 45411 1.937 66780 2.849 112194 4,786
Sherpa 141 12.98 667 61.40 808 74.37
Rev 14 1.208 55 4.746 69 5.954
Nvgr
over = {| 2 X (NvBF + Nggr + NBackground) X In | 1 + — NvBF
N ggF +NBackgr0und

sigma 1.04185 1.69603 1.98878

\ %4



fit with welghted dataset

10

Events / ( 1

» parameter range needs to be optimized
* huge statistic error

 cut based selection efficiency is low
 MVA will be better?



significance

mc

—— mcB_only
—— test statistic data
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* very bad result!
 will correct it soon
* welcome suggestions

only categ
RooSimul

8 10
Profile Likelihood Ratio

ory O here
taneous is not well prepared



to do list

* current selection threshold is run1 ,try to
get run2 cut-based and MVA threshold

« StandardHypoTestDemo.C:a little problem
with RooSimultaneous,try to fix it




